Axles, Axle Tubes, Camber Inserts, and Suspension
Hardware

Frame Shown for
Reference Only

Non-Suspension Chairs Non-Suspension Chairs
(Quick Release Pin Camber Release) (Nut and Bolt Camber Release)

Frame Shown for
Reference Only

Suspension Chairs
(Quick Release Pin Camber Release)



Axles, Axle Tubes, Camber Inserts, and Suspension

Hardware
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A 1114074 Hardware, Axle Tube Mounting, Quick Release 1 1
1 B 1114075 Hardware, Axle Tube Mounting, Nut and Bolt 1 1
2 1111954-NLA | NLA - Screw, Socket Head (5/16-24 x 7/8") 1 2
3 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
4 1112017 Clamp, Camber - Right 1 1
4 1112018-NLA | NLA - Clamp, Camber - Left 1 1
5 1065886 Ring, Toe-In/Toe-Out Adjusting 1 2
6 See Chart #6 Axle Tubes 1 1
7 See Chart #7 Single Setting Camber Inserts 1 1
7 See Chart #7 Dual Setting Camber Inserts 1 1
8 1066489-NLA | NLA - Screw, Thread Forming (M4 x 16mm) 1 2
9 1111939-NLA | NLA - Pin, Quick Release 1 2
10 1065887-NLA | NLA - Ring, Indexing 1 2
11 1026907 Washer (1/4 x 1/2 x 1/16") 1 2
12 1074640 Screw, Allen Head (1/4-28 x 1-1/4") 1 2
13 D 1121373-NLA | NLA - Shock Absorbers w/ Bolt-On Hardware, Soft 2 1
Setting (Pair)
13 D 1121374-NLA | NLA - Shock Absorbers w/ Bolt-On Hardware, Firm 2 1
Setting (Pair)
13 E 1123918-NLA | NLA - Shock Absorbers w/ Quick Release 2 1
Hardware, Soft Setting (Pair)
13 E 1123919-NLA | NLA - Shock Absorbers w/ Quick Release 2 1
Hardware, Firm Setting (Pair)
14 1083913 Pin, Quick Release 1 2
G 1123920-NLA | NLA - Kit, Quick Release Pin (Pkg. of 2) 2 1
15 1047449-NLA | NLA - Spacer (1/4 x 3/8 x 3/16") 1 2
16 C 1116511-NLA | NLA - Shock Absorber Assembly, Soft Setting (Pair) 2 1
16 C 1116510-NLA | NLA - Shock Absorber Assembly, Firm Setting 2 1
(Pair)
17 1040361 Axle, Quick Release w/ Locknut (1/2" x 5") 1 2
18 1069340 Axle, Quad Release w/ Clip 1 2
19 H 1113049 Axle, Quick Release w/ Dome Button, Black 1 1
19 J 1065303 Axle, Quick Release w/ Flat Button, Black 1 1
G 1121375-NLA | NLA - Kit, Suspension Bolt-On, Soft Setting (Pair) 2 1
G 1121376-NLA | NLA - Kit, Suspension Bolt-On, Firm Setting (Pair) 2 1
NOTE: A-Includesitems 2 -5, and 8 - 10.
B - Includes items 2 - 5, 8, and 10 - 12.
C - Includes Attaching Hardware (4 ea. 1/4-20 x 1" Screws not sold separately)
D - Includes items 10 and 16.
E - Includes items 10, and 14 - 16.
G - Not Shown. Includes 2 ea of items 14 (Q.R. Pin) and 15 (Spacer).
H - Used on all Spoke wheels except Spinergy wheels
J - Spinergy wheels only




Axles, Axle Tubes, Camber Inserts, and Suspension
Hardware
#6 Axle Tubes

Chair Width

12"

13"

14"

15"

16"

7

18"

1065990-NLA

1065991-NLA

1065992-NLA

1065993-NLA

1065994-NLA

1065995-NLA

1065996-NLA

Chair Width

19"

20"

21"

22"

1065997-NLA

1065998-NLA

1083015-NLA

1083016-NLA

#7 Single Setting Camber Inserts

Camber Angle Right Left
0 degrees 1112121-NLA 1112122-NLA
3 degrees 1112123-NLA 1112124-NLA
6 degrees 1112125-NLA 1112126-NLA
9 degrees 1112127-NLA 1112128-NLA

12 degrees

1112129-NLA

1112130-NLA




Axles, Axle Tubes, Camber Inserts, and Suspension
Hardware
#7 Dual Setting Camber Inserts

Camber Angle Dual Settings

Right

Left

0 - 3 degrees

1066219-NLA

1066229-NLA

0 - 6 degrees

1066220-NLA

1066230-NLA

0 - 9 degrees

1066221-NLA

1066231-NLA

0 - 12 degrees

1066222-NLA

1066232-NLA

3 - 6 degrees

1066223-NLA

1066233-NLA

3 - 9 degrees

1066224-NLA

1066234-NLA

3-12 degrees

1066225-NLA

1066235-NLA

6 - 9 degrees

1066226-NLA

1066236-NLA

6 - 12 degrees

1066227-NLA

1066237-NLA

9 - 12 degrees

1066228-NLA

1066238-NLA




